
Factorisation d'Exposants (E)
Décomposez chaque exposants en facteurs.

146 =

152 =

56 =

236 =

202 =

245 =

153 =

184 =

83 =

251 =
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Factorisation d'Exposants (E) Solutions
Décomposez chaque exposants en facteurs.

146 = 14 × 14 × 14 × 14 × 14 × 14

152 = 15 × 15
225

56 = 5 × 5 × 5 × 5 × 5 × 5

236 = 23 × 23 × 23 × 23 × 23 × 23

202 = 20 × 20
400

245 = 24 × 24 × 24 × 24 × 24

153 = 15 × 15 × 15

184 = 18 × 18 × 18 × 18

83 = 8 × 8 × 8
512

251 = 25
25
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7 529 536

15 625

148 035 889

7 962 624

3 375

104 976


